Geometry, Ch10-5 Exer, pg €15 #3-13, 1e-is
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13. % MULTIPLE CHOICE In the diagram, /£ is tangent
, to the circle at P. Which relationship is not true?
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17. INSCRIBED CIRCLE In the diagram,
the circle is inscribed in APQR. Find

mEF, mFG, and mGE. . (360~ x) =(x)

N
Lse a Similar MQ“HAQQ‘ ‘CQ;— MFG and w\(’;a.
— (360-x) =(x) (360-%X)=- (x
nYG: 8O = 2 m(,“;[% v 4§o ® 2 )
16O = 3¢60-2X% FO = BLO -2%
~ 200 = ="2x —280 T =2
>0 = x | %o - x|

N N\
‘MQ‘T& H EL 4 F%. + G’E. =360

o + o + o = 360 .
360 = 360 /

ig. ALG.&B_@Az éTA‘ is ‘Eanaen‘l 4o cirele E. End 'més»

Tx "3}( _ G

; 40 = 2z 92
80 = 4%
AO X
Y .
MDA = (20 = koO*
~ -
mAC * 3(29) = 60°

m{).\A*M&L *w\& T 360
o' 4 60+ med = 360
200° + mED * 360
e * 160




